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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given

instructions. Calculators are not allowed.
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Section—-A 8x2=16
(Very Short Answer Type Questions)
Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one
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sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (1 What do you mean by ‘Fan-in’ term ?
9g ‘Fan-in’ ¥ 19T 1 acqd § 2

(i) What do you understand by ‘PMOS Logic’ ?

7g ‘PMOS Logic’ ¥ 9T 1 acqd § ?

(i11) “Generally CMOS Logic circuits have higher
power dissipation in compare to TTL
circuits.” Is this statement true ?

‘g TTL 9Rae &t gan § CMOS Logic
ity # wfe &g At 2§17 0 98 HeH
Ta ¥ ?
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(iv) What does mean by T-states with reference

to Machine Cycle ?

W W% & g<d H T-s7awen &1 = Ay
T2
(v)  What is dissembler with reference to machine

language ?

e 9men & §<Y H dissembler F T ?
(vi) What is the full form of PPI 8255 ?

PPI 8255 &1 JUi &9 1 ¥ ?

(vii) Write the name of four interrupt modes in
which operation command words are used to

operate 8259.

8259 & Hiwdl & fau =R =gy fawed & AW
fafen fod afen o s swEm 73 S
g2

(viii)) How much registers size in bits for Pentium

Pro-processors ?
Ifezm W-TER & fau foe & o § ™=
e ot et & 2
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Section-B 4x8=32

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.

gug—a
(g 3T 999)

oo .- 5=l IR Tvl & SR SIfSU1 o™ A9 W OH
affereRad 200 5t H ORI wifSw) s 99

8 3T & T

. With reference to 8259, explain the automatic and

specific rotation of Rotating priority mode.

8259 & @<=y #, oA e fam & wa: 9 faftre
HUH 1 HHET |

. What do you mean by Virtual 8086 mode ?

HTeatTeh 8086 Taem & et &= arcad § ?

. What do you understand by RTL Circuit ? Draw

RTL 2-input NOR Gate and also write its

limitations.

RTL 9f9er & e9est &= i © 2 RTL 2-input
NOR Gate &1 fo= MU qo 9t 9@ of fafem
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5. What do you mean by ‘EPROM’ ? Explain it.

‘EPROM’ § 3f9ehT 41 dc9d & 7 39 9HeEU|

6. Explain the ‘Fetch Operation’ with reference to

instruction cycle.
e =% & 9= § ‘%9 9ihar’ w99

7. What do you understand by ‘Propagation Delay’
for logic families ?
S winet & fau ‘Here faom’ | eae #=
sAfygmr & 2

8. Explain the ‘ALU’ and ‘Timing and Control Unit’
of a CPU.
CPU & ‘ALU’ @= ‘Timing and Control Unit’ &1
HHART |

9. What do you mean by ‘Addressing Modes’ ? Write
the names of addressing modes for 8085.

e faene ¥ svert = A § 2 8085 & feru
TreeE faeneti & A fafeu)
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Section—C 2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
gus—YH
(& s we)

faoT .- =l @1 weHl & SR SIS 3 ST9e SR T Tferehad
500 v H 9REHG HIfSU I Y&E YT 16 STehi @

Tl
10. Describe  the architecture of Intel 8086

MmiCroprocessor.

320 8086 HEHITEE & AfehdsFer s AART |

11.Discuss the input/output handshaking with
reference to peripheral device.
T g & g ¥ input/output handshaking
T FHAE |
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12.(a) What do you understand by ‘Flag Register’
for 8085 ? Discuss the Sign Flag(S) and Zero
Flag(Z).

8085 & fom wer W= | &9 | FHAI § 7
sign flag(s) a9 zero flag(z) Tt ST HifIT |
(b) Explain the general organization of

Microcomputer.

AIShHIHFIE i AN Tl Sl FHEET
13. Draw the functional diagram of PIC 8259 and

operation of the each block.

PIC 8259 =1 forarcaesr o sM3U qean g% scieh i
qferan T9EmETl
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